B.A. 6™ Semester (Programme) Examination, 2021
SANSKRIT
Course ID: 60910 Course Code: APSNS-604SEC-4
Course Title: Spoken Sanskrit and Computer Application

Time: 2 Hours Full Marks: 40

The figures in the margin indicate full marks. Candidates are required to

give their answer in their own words as far as practicable.

Answer all questions. All questions carry equal marks. 1x40=40

Spoken Sanskrit

1. FEAN ---- farsrfxe: wata
a) AT
b) et
c) et
d) =qeft

2. ‘AETHA: 2A 9< F: qHTE: ?
a) RTAE:
b) dI=W:
c) FHYT:
d) B

3. ‘e 3fq uq 1 fawfe: ?
a) AT

b) =qAT



c) IR
d) T
et sfa oo & = ?

a) @<

<

b) 9I<
c) fafafes

<

d) =T

<

. TSHAET FH: & ?

a) -{;EL{’?'[
b) QLELF[,

Pall

c) ATIE

d) T,

. AU IFIIEATH --- e
a) FU:

b) AT

c) oAs:

d) =

. A TR — AT a e 3 ?
a) T S @R

b) I T @I

c) o7 o+ @rafd

d) o9 1< @refeq

. AT IO GATIOT i |qieq ?
a) TEfderta:

b) TETEY

c) graerfa:

d) =Tqaer



9. FHILAHITN &l Teq ?
a) ¥
b) &F
c) U<
d) 99
10. afs@r = 92 &: T3 ?
a) =
b) =cdT
c) ¥q
d) Iq
11. ‘S&TT 3 9 F: T ?
a) =M
b) AT
c) =Y
d) Iq

N

12. SUFA T TR F ALY ?

a) I
b) F
c) &I
d) =T
13. ‘wfafea T 9< F: A ?
S EEERIEIER



b) =i~
c) =4
d) =T

15. UATSITARI: ST AT IO [0 ?
a) & Ber=:
b) Sterfs: qTUE:
¢) FAT T
d) & o< @rafd
16. HETATSTHRIL: 6t ?
a) Taglen:
b) TTfOr:
c) HAEI:
d) FTATEAT
17. 2" =4 98 F: TEHC: ?
a) ®Ig
b) =
c) I
d) 9<
18. ITTHAFHLTCAET IITELI TAT -
a) TETSATH:
b) FTITH:
c) wrefreTerH
d) FTTeTi=F:

19. ‘ YA ATAH: AT TATA SHT FHIEAT T8 ATTITTRITHH ?
a) IETq
b) watd
c) dTTh:

d) 9ra:



20. FgATH FHR 7 AR 2
a) IJHT
b) fac=T

c) Tcﬁ'EIT
d) =T

Computer Application

21. The smallest unit of data in computer is ---.
a) bit
b) nibble
c) kb
d) bytes
22. One byte is equal to --.
a) 8 bits
b) 1 nibble
c) 4 bit
d) None of them
23. Which of the following is not a example of software
a) MS- office
b) chrome
c) tally
d) mouse
24. How many computer generation -
a) 1
b) 3
c) 4
d) 5



25. What is the time period of 1% generation of computer -
e) 1939-1945
f) 1946-1959
a) 1959-1965
b) None of them
26. In memory full name of Kb -
a) Know bit
b) kilo byte
c) knee byte
d) kilo bit
27.Ctrl + Cis used for
a) Refreshing web page
b) Copy
c) Paste
d) Find the text
28. Which of the following storage devices can store maximum amount of data?
a) Floppy Disk
b) Hard Disk
c¢) Compact Disk
d) Magneto Optic Disk
29. The main electronic component used in first generation computers was -
a) Transistors
b) Vacuum Tubes and valves
c) Integrated circuits
d) None of above
30. The digital computer was developed primarily in -
a) USSR
b) Japan
c) USA
d) All of the above



31.

32.

33.

34.

35.

36.

Abacus was the first -

a) Electronic computer

b) Mechanical computer

c) Electronic calculator

d) Mechanical calculator

The term gigabyte refers to -

a) 1024 bytes

b) 1024 kilobytes

c) 1024 megabytes

d) 1024 gigabyte

Which is the first computer in India?

a) ENIAC

b) HEC-2M

c) Sz40/42

d) Harwell CADE

Which is not an input/output device?

a) Printer

b) Readers

c) Displays

d) Magnetic tapes

A person who uses his or her expertise to gain access to other peoples computers to
get information illegally or do damage can be called a -
a) Hacker

b) Programmer

c) Spammer

d) All of the above

All of the following are examples of real security and privacy risks EXCEPT
a) Identity threat

b) Viruses

c) Spam



37.

38.

39.

40.

d) Hackers

Which is the odd one among the following -
a) Keyboard

b) Printer

c¢) Mouse

d) Touch screen

Ctrl + F5 is short cut of -

a) Refreshing web page

b) Opening new web page

c) Closing web page

d) Bookmarking web page

Ctrl + P short cut is used for

a) Print preview

b) Print Options

¢) Print cancel

d) Open of new document

Which of the following is not an Operating System -
a) DOS

b) JAVA

c) Unix

d) Windows NT



